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SECTION A

Answer ALL the gitestions 1 this section on the maik-reading sheet supplied Follow the mnstructions
for completing the mark-reading sheet carefully
Also pay attention to the following mmformation Suppose vou are ashed the following question

IJ+2x-14+4-2=

a7
21
B3
4 4

{5]  None of the above

The correct answer 1s (3] Ounly one option (incicated as {1 2] [3] [4] [5]) per question 1s correct
If vou mark more than onc opsion, you will not recaive any marks for the question  If your answer 1s
correct you will recenne 3 MARKS Marks WILL NOT be deducied for mcoriect answers

Section A consists of 20 gquestions and counts 60 marks Hand n the completed mailk-eadmg sheet
with your answers for Section B DO NOT STADPLE I'T!

SECTION B

This section must be completed 1 the spaces provided below each question  Section B counts 40
marks

Remember to mclude vour MARK-READING SHEET
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Question 1
Find the slope of the lne 0 = 6 + 32 — 2y

2
11 =
o
3
23
33
4] 2
(5]  Nome of the above

Question 2

3
log, (—\@) to four deamal places equals approsumatels

[ —00795
2] 0,0795
(3] 20000
[4] 05000

[5]  None of the above

Question 3

Solve the mequality

1] -2<2<3
2] —6<a2<l
B] +<-22z2>3
M +<-3 az>2
[5] -3<i1<2

Question 4

Find the equation of the straight hne passimyg tluough the ponts (4 2) and (2 4)

1] y=-lr+06

2] y=-1a

B y=22+4

4 y=11+2

[5]  None of the above
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Question 5

Fmd the value of quantity ¢ for the demand function P = 60 — 4@ when the matket price 15 P = 24

8
[2]

3] 10
[4] 11
5] 12

Question 6

Calculate the consumer suplus for the demand function P = 60—4¢Q when the maiket price1s P = 16

(1] 242
2] 484
3] 88
[4] 32
[5] 352

Question 7

If the demand function 1s P = 90 — 0050 whete P and @ are the price and quansity 1espectively
determme the expression for price clasticity of demand m tenms of P

(I

P —-90
[2] P ;90
[d] P -—Ii 800
[4] P —; 800

[5]  None of the above
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Question 8
The supply and demand functions are given bn
P = 50-3Q (supplv function)
P = 14+15Q (demand function)

where P and € are the price and quantity 1espectivelv Caloulate the level of excess supph f price
P=20

1] 10
2] 4
3] 14
4] 6

5]  Noue of the above

Question 9
What 15 the value of maximmun 1evenue 1f total 1evenue 1 given by

1
R(7)=—22% + 302 + 81
5

where 1 15 the gquantity?

] 75

(2] 1206
3] 15265
4] 81

(5] None of the above

Question 10

Salve the following svstem of limeat equations

Py =8

v — 3y =

by — z = 1Q
1] a2=6 y=2 z=0
2] 2a=0y=6 =2
3] 2=24y=0z=6

=

[ubs

None of the above
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Question 11

Deternune the roots of 414 + 31 — 1

[1]
2]
13]
[4]
5]

_1
1—;1:—1
_1 J—
(I,—a 7 =1
—_— 1 —
T——Z,J—
1

None of the above

Question 12
I[fy =277 find rif y = 0,0625

r=-2
=3
=4
7="5

None of the above

Question 13

Evaluate the following definite integral

31
3

1
3=
3

None of the above

[ O3

(1% — 3)dn
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Question 14

Exvaluate

1} 2*+a2+e

1
(2] 33,3 +r4+c
[8} a?+1

1
[4] gmz—i—:r-f-c

[5]  None of the above

Question 15
Syphfy

' -

—
SN TR ]
BED

2] SN
3 2vi-

2

3
4 S —
4 Vit o=

(3] None of the above

3]

ST H

Question 16

The demand function of a irm 18 Q = 150 — 05 whae P and @ 1epresent the quaniiy aned price
tespectively At what value of Q 15 marginal revenue equal Lo zero?

1] 150
7
13 113
4 0

[5]  None of the above

[TURN QOVER]
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Question 17

Given the demand function P = 60 — 02 What 15 the are price elasticiin of demand when price
decteases fiom R0 to R407

1
[1] —3
1
2] 3
I
W 3

[5] None of the above

Question 18

Consider the market defined by the following functions

demand function P = 60 — 0 60
supph function P = 20 + 020

whete P and @ ate the price and quantits 1espectivels  Calculate the ecquiibinun puce and quantity

] P=300 Q=20
2] P =200, Q=30
3] P=20 Q=300
[4 P=30 Q=200

[5]  None of the above

Question 19

What 15 the pomt of interscction of the following lines

214y—5=20
Jie—25—4 =10

1] z=3 y=1
B} 1=1y=2
B z=27y=1
M z=1y=3
[5]  None of the above

[TURN OVER|



Question 20

The graph of y = =22+ 1% ~ 3 15 reprosented by

A
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v

[t
A
1
g
2_
| =
NERE ’
Y
(3]

[5} None of the above

Please turn over for Section B.

A

T
[N
-

A 4

oy
.
t

|-+
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Section B

Question 21

The monthly demand for a new hine of computers ¢ months after 1t has been mtioduced 1 the market

15 given n
D{#) = 2000 — 1500e™" " for [ > 0

(a) Find demand two years after these computers were mtioduced (2)

(b) Algebraically, deternine the number of months after which demand will be 1000 units (3)

[TURN OVLR]
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Question 22

An electronics company manufactures radwog and television sets  The tune needed to manufactuae o
racio 1s 90 mumutes and 1t takes 5 nunutes to test a radio The tune needed to manufacture a television
set 1s 150 mmutes and 1t takes 15 nunutes to test a television set [ costs R175 to make a 1adio and
R850 to make a tclevision set The company has at most 95 homrs of manufacturimg sime and at least
9 hours of testing tune available The production cost st not exceed R13 500

Write down the mequahties that this production process must satisfy (10]

[TURN OVER]
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Question 23

ABC mtends manufacturmg aud marketing a new producs It has heen detenmned that the cost of
producng the product as a function of price 18 given hy

C(P) =432000 — 1800
and the revenue generated when units are sold at price P 1and cach 15 given by
R(P} = 60007 — 30P?

Plot the mcome and cost functions on the same graph nsing the grid helow  Indicate ceatly on the
graph the break-even pomt(s) and profit arca 9]
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Question 23 continued
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Question 24
(a) Draw the hines representing the followmg constzamts on the gnd below {4)
(1y o1 + 2y < 840
(2) 20 + ¢y < 300
(3) + oy < 250
Ly = 0
(b} Show the feasible region (1)
(¢) Determune the maximum value of 2 = 1204 + 95y subject to the constiaints above {5)
[10]
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Question 24 continued
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Question 25
Let f(1) =312 — 1 Find the equation of the hne tangent to the graph ¢ = (1) at 1 = | [0]
TOTAL 100
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ROUGH WORK
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ROUGH WORK
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